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PART -1 '
Instructions : .
1) Answer all the questions. 2) Choose the most appropriate answer from the given four alternatives and X
write the option code and the corresponding answer. g 14x1-l4 '
1. A={a, b, q}, B= {2, 3}, C={p, q, 1, 8} then {n (AUC)xB} is :
a) 8 )20 . . ol2 d) 16

2.let f(x)=+1+x then , :
) fxy) =) B2 ff)</@f) ) Noneofthese

3. 74k = (Mod 100) a) 1 b) 2 )3 g O
1 X P
X-25 Pabxaso g '
X' =7x+40 by X740 9 x* =7x+40 a) x*+10
5 (x-5)x+5) )(x-S)(x+5)(x+l) (-25)c+1) 7 (x”-25 ) x+1)
5. The solution of the system x+y-3x=-6, -7y+7z=7, 3x=9 is
a)x=1,y=2, z=3 b) x=-1,y=2,z=3  ¢)x=-1, y=-2, z=3 § d)x=1833
6. Transpose of a column matrix is.
a) unit matrix - b) diagonalmatrix ~  c) coloum matrix d) row matrix
7. Ina AABC, AD is the bisector of /BAC If AB = 8cm, BD = 6cm DC=3cm, The length of the side AC it
a)6bcm b) 4cm c)3em d) 8cm
. 8. A tangent is perpendicular to the radius at the
a) centre - b) point of contact c) inﬁnity
9.(2,1) is the point of intersection of two lines
a) x-y=3=0; 3x-y-7=0 b) x+y 3; 3x+y=7 ¢) 3x+y=3; x+y=7 d) x+3y-3=0; x-y-7=0
10. When proving that a quadrilateral is a parallelogram by using slopes you must find.
_ a) Two sides are parallel b) Two parallel and two non parallel sides
c) opposite sides are paralIel d) all sides are equal length

11. sin 8 = cos 6, then 2 tan® B + in” 0-1 is equal to

9 b % )% D%

12. The height of the right circular cone whose radices is S5cm and slant height is 13cm will be :

a)12cm b) 10cm - t) 13cm d) Scm
13. The range of the data 8,8,8,8 ........ 8 is ' '
a)0 ' byl - 8 d)3
14. Which of the following incorrect? ,
2) P(4)>1 by O<PU)<I o) p(#)=0 d) p(d) +Pd)=1
PART - 11
Note : Answer any 10 questlons question No: 28 is compulsory. - - 10x2=20

15, 1f BXA={(-2.3)(-24),(0,3)(0,4),(3,3)(3 4)} find A and B »
16. Show that the function f: NN defined by f{m) = mZ+m+3 is one — one ﬁmctlon
17’Fmd gth term of G.P. 9,3,1 ,

4x’ y 6xz’
18, Simplify —5~ 7xl 20y4

19 1f the dlfference between a number and its reclpl’OCal is 24 5 find the number.

-20.'What length of leader is needed to reach a height of 7ft. along the wall when the base of the ladder is 4ft
~ from the wall?
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21. If the points A(-3, 9) B(a,b) and C(4,-5) are collinear and if a+b=1 then find a and b
22. Prove that %_*_'_39% = cos ec @ + cot 9 '

23 Find the angle of elevation of the top ofa tower from a point on the ground, which is 30m away from the

" foot of a tower of henght 10\[— 3m..
'24. Find the diameter ofa sphere whose surface area is 154 m?,
25. Find the volume of a cylmder whose height is 2m and whose base area is 250m’.

26. The mean of a datais 25.6 and its co efficient of variation is ]8 75. Find the standard deviation.
27%-A\coin is tossed thrice. What is the probability of getting two consecutive tails?

_ el
287 Tot £(x)=NWSIf 0 then'fing LEFD=SD)
) ; X i

PART - 111

Note : Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

' 29 1.et A = The set of all natural numbers Less then B = the set all prime numbers less than 8, C=the set of
‘even prime number; verify that (4 N B)XC = (AxC)m(BXC)
' 30. f{x)=x-4,g(x)=x" and h(x)=3x-5 prove that (fog) oh = fo(goh)
31.Find the sum of all natural numbers between 300 and 600 which are divisible by 7.
- 32. 3-8 +mx’+mx+16 is a perfect square, find the value of ‘m” and ‘n
33, 1f the roots of the equatlon (c*-ab)x’-2(a’-bc)x -ac=0 are real and equal prove that either a=0 (or)
a’+b>+c’=3abc

§ '
"3, 1fA=( , 2)S.TA2-5A+712=0

335. State and prove Pythagoras theorem. _ ‘ '
-, 36-Find the area of the quadrilateral white vertices are at (-9, 0) (-8,6), (-1,-2) and (-6, 3)
37. Find the equation of the perpendicular bisector of line joining the points A(-4, 2) and B (6, -4)
38 From the top of a tower 50m high. The angles of depression of the top and bottom of a tree are observed

to be 30° and 45° respectively. Find the length of the tree (J— =1. 732)
39. A girl wishes to prepare birthday caps in the form of right circular cones for her birthday party using a
. sheet of paper whose area is 5720 cm’, how many caps can be made with radius Scm and height 12cm.
4ﬂmd the coefficient of variation of 24, 26, 33,37, 29, 31 .
= 41. In a class 50 students, 28 opted for NCC 30 opted for NSS and 18 opted both NCC and NSS. One of the
student is selected at random. Find the probability that. g ,
i) The student opted for NCC but Not NSS  ij) The Student opted for NSS but not NCC
" iii) The student opted for exactly one of them, |
" 42.The sum of three consecutivé terms that are in AP j is 27 and their product is 288. Find the three terms.

; PART ]V . .
Note Answer all the questions - 2x8=16 "

43, (a) Draw the tangents from a point Wthh is 10cm away from the centre of a circle of radius Scm. Also,
' measure the length of the tangents, ;
(OR
(b) construct a APQR in which QR = Sem | P= 400 agd the medlan PG from P to QR is 4.4cm. Find the
length of the altitude from P to QR
" 44, (a) Graph the following linear function y = / x Identify the constant of variation and verrfy if with the

graph. Also (i) find when x = 3 (i) find x when Y = 75 " i "(OR)
(b) Draw the graph of y ¥ +x and hence solve x241=0 .
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